Geo B Exam Review

Multiple Choice
Ldentify the choice that best completes the statement or answers the question,

. A_ 1. Iftwo polyzons are SIMILAR, then the corresponding sides must be

4.) proportional ¢. parallel
congruent d.  similar
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a.  AA Similarity 58S Similarity .

b, SAS Congruence @ SAS Similarity A 5E [

E } 3. Atthe same time of day, a man who is 76 inches tali casts a 57-inch shadow and his son casts a 24-inch
shadow, What is the height of the man's son? (Figures may not be drawn to scale.)

a. 33in. 32 in. ¢, 8!lin. d. 108 in.
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[ + 4. One leg of a 459.455.9(° triangle measures 12 centimeters. What is the fength of the hypotenuse? \w;%
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?) 7. Describe the relationship between the area of circle O, the area of quadrilateral ABCD, and the area of
quadrilateral RSTU,

2. The area of (O is greater than the area of ABCD. The area of ABCD is greatet than the

area of RSTT,
The area of 4BCD is greater thar the arca of (D O, The area of (D0 is greater than the
area of RSTU.
¢. Theareaof (3O is equal to the arca of ABCD. RSTU has the least area.
d. The area of (O is equal to the area of RSTU. 4BCD has the greatest area.

% 8. A town has an fea of 104 miZ, he town’s populdfion is @ What is the population density of the town?
[ _'__’_,/
- Round your answer 16t Tisarest whole number, . PD
pop dansity = PP

¢ ;
362 people/mi’ ¢. 1122 people/mi® areu.
@ 348 people/mi? d. 37,368 people/mi*
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—.. 9. Find the area of the triangle. \\ s
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10‘ A home owner wants to make a new deck for his backyard. Redwood costs $5 per square foot. The units on
the graph are in feet. How much will it cost to create the deck shown? ¥

. $160 > c. $200
b S38 d. $190
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C I2. Which is equal to the cosine of &2
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. Write ¢oan6° i terms of the sine,
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E ) 14. A skateboard ramp is 3.5 feet high and 6 feet long along the horizontal, To the 1@@, what is the

measure of the angle that the ramp makes with a horizontal line? ’ 0 Low ! Lo i%('s
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% 15, A camera is mounted at a point 4,400 i from the base of a rocket launcling pad. Assuming the rocket rises
vertically, what is the height of the rocket from its base when the camera angle is 30°? Round your answer to

the neai(st\/ﬁoot. K’
a 3811f e 7,621 1% 20 = B
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§ s 6. KL e LA and LELA = Z0NE . Determine if the quadrilateral must be 3 parallelogram. Justify your answer.

L AL
@ Ne. Only one set of angles and sides are given as congruent. The conditions for a . -
parallelogram are not met.

% Yes. Opposite angles are congtuent to each other, This is sufficient evidence to prove that  * ¥
the quadrilateral is a parallelogram.

\Ej\ Yes. Opposite sides are congruent to each other. This is sufficient evidence to prove that
the quadrilateral is a parallelogram.

\c%.\ Yes. One set of opposite sides are congruent, and one set of opposite angles are congruent,

This is sufficient evidence to prove that the quadrilatera] is a parallelogram.
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i 2 17. The ceniral angle of a circle measures 97 and intercepts a minor arc. What is the measure of its major arc?
nY U IS majo
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g—; 18. Which of these arcs has a measure of 13499
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_ﬂ[ 19. Solve for x. 2){—‘/5 = %—n’(‘ﬁ(}} c
@ x =425 Ix+5= 90 ¢ x=875 @x+5)
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: (X L 20, A mountajreliniber is standing at the top of Mount Everest, The distaiice from the summit to the hotizon is

> about 216 miies. About how high is Mbunt Everest? - 7 W 210
a/ 5.5mi /7 ,,f;«f;’{j c. 210 iﬁi“"“;fﬂ A Fa : ,-‘_,
bl mi”/ | TN A 8000 mi / ' S/
¢ I 4
bk

e /mo Yo (et Afwss LN
| bty jo0 = ¢ 2 i -
H0bo.g1= (&

, S
E/_ 21, Find the perimeter of the triangle to the nearest whole unit., | ] i B (;”L\ 3
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7 22. The diameter of circle 4 is 8.7 units. Find the circumference of the circle.
N
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a. 17.4x units (?2 .77 units A
b. 75.6%x units U 26.1 units Q—f;f ‘:\O“
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23. What is the area of sector formed by £ FHY to the nearest hundredth?

(E) 64.58 . 314.16
B 12915 4. 232.48

24. part B What is the length of GF? g}(( (fmg%h = 3'@(;0 ary
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ES 25. Describe the cross section, -

@ The cross section is a circle, ¢. The cross section is a plane.
b. The cross section is a eylinder, d. The cross section s a parallelogram,

D 26. Find the volume of the solid generated by rotating the figure around the given axis, If necessary, use 3.14 for
7 and round your answer to the nearest hundredth,

a,
b.

301.44 cubic units
113.04 cubic units

¢._ 96 cubic units

150.72 cubic units
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C./ 27. A lunch box consists of half of 2 cylinder placed on top of a rectangular prism. What the is the volume of the

Tunch box?
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\fpmm = doh = sy o) = (g([)[pi'f’ 1S5 plotel = 238149, 15
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28. Tell whether each pair of triangles is similar, Explain your reasoning. B
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29. Standing next to each other, a woman casts a 41 4~ inch shadow and her 40-inch-tall son casts a 24-inch
shadow. What is the height of the woman to the nearest inch?
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30.  Determine whether the figures are similar. ;_;g@géf 1“5 .
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31. FindwCDE.

B
32. Which angle of A4BC hasa sine of 0.87 &GH
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33. A 220 fi string attached to a kite makes a 36 an

gle with the ground. What is the height of the kite to the
nearest fenth?
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34. You want to find the height of a tower used to transmi
tower and measute the angle of elevation to be 40°.

Th A

PR . .
L0 7y RS \{“ﬁg 0%\ \

it celludar phone cals. You stand 100 feet away from the
How high is the tower?

35. Show that JKTM is a parallelogram forx = 7 and y = 14, 0
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36, LE5PJ e ZORS and LPOR = £REF 1s PORS a parallelogram? Explain.

Ved, ot pairs of dgpos e tighed 6ve (ongwent

LF]

37. Find w2 Admie M
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W‘& Find the area of the polygon with vertices A( -2,- 1), 3(-2, 3) , {;’( 1 3), and E?(L 1).
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39. Find the arca of the shaded region.
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@{0. A restaurant has a concrete patio with a semicireular end, as shown in the figure below,
fe20 9]

What is the area of the patic, in square feet? T irchen

30%Us = 1950 1
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90 1190425 = BB 7. 23 2D  ——me—

- A new street is going to be constructed to-connect Maif Street, which runs in the cast-west direction, and ~ 35

North Boulevard, which l'ig/sm—thfﬁﬁffh‘:s@ th direction, as shown in the diagram below. The construction

cost has been estimated at 580,000 per mife, txcluding the new intersections,
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Part A: What type of triangle is bounded by the new street, North Boulevard, and Main Street? How do Yot

know? y :
RIS i 5 o e 0% Lty ot ot

Part B: Let x reprosent the length of the new strest. What is the name of the formula that can be used to find
the value of 32 Use that formula to write an equation that can be solved for x.

ﬂjfhm qoveon Fheprem (H R gt hhy - v
LPart C: What is the length of the new street to the @l ?
15l 4~5‘/tg; X * - 29»‘:5 99 mila)
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Part D: Estimate the cost of constractin g the new street. Show your work. ($580,000 per mile)

79 X 580,000 = il@@zWWD

- A square pyramid is inscribed in 2 cube with an edge length of 5 units, as shown,

i = 55 E =5
Part A: Find the volume of the prism, \(PHJ ) ’ﬂ wh 555 =1

Part B: Find the volume of the pyramid, \f{} __,%— Lioh = L G.S5 = L“ ]
Part C: Find the yatio of the volume of the p;z'amid 1o the volume of the prisin.
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43. Provethat £¥¥Z is a right angle.

pr—— i ]
44, Oncirele R, mQOT = m7TSs = 1300,
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L LYyt AL th% angle.

Find mL QRS and ms OFS, Explain each step of your solution.
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